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Batting
1. Only the defensive team may appeal batting out of order after the batter has completed her time at bat?  
2. Improper batter B1 has a count of 2 balls and 1 strike when the defensive coach calls time and appeals B1 as an improper batter and says she should be out.  You should declare B1 out and put the proper batter up to bat? 
3. With a runner (R1) at 1st, B8 erroneously bats in place of B7.  The error is discovered by the opposing team after B8 has hit safely and advanced R1.  What is your ruling?  
4. B1 singles and is followed by an improper batter B3 who has a 2 & 2 count.  The defense calls time and appeals B3 batting out of order. B3 is out?
5. Same situation as in # 4 above however now improper batter B3 singles and the defense discovers batting out of order at this point.  What’s your ruling?

6. Runners on 1st & 2nd and it’s B3’s turn to bat however B5 erroneously bats. Before the discovery of the irregularity, the improper batter, B5, hits safely.  R1 advances home, R2 advances to second and B5 advances to first.  The irregularity is discovered by F6 before a pitch to the next batter.  What do you do?

7.  As F1 starts her pitch, B1 requests time by either stepping out of the box or by putting her hands up.  The pitcher legally delivers her pitch which is clearly outside the strike zone.  The umpire should declare time for the batter?

8. With a runner on 1st, B2 has 2 strikes.  B2 strikes at the next pitch which touches her.  R1 steals second.  Let the play stand?

9. With a runner on 1st, B2 who has two strikes swings at the next pitch.  F2 drops the ball and fails to throw to F3 at first.  There are no outs.  B2 is still out?

10. Same as # 11 above however now there are 2 outs.  B2 who has two strikes swings at the next pitch and F2 drops the ball.  B2 runs to 1st before being tagged or thrown out.  B2 is safe.

11. With less than 2 outs, R1 on 2nd and B2 at the plate, R1 attempts to steal 3rd.  In the process, B2 does not swing or does swing and (a) makes no attempt to get out of the way of the catcher throwing to 3rd or (b) is unable to make an attempt to get out of the way of the catcher throwing to third.  As a result, F2 is unable to play on the runner. 

